3.3

1) In|<-11 15) 9|n| — 3 = 42
false +3 +3
No Solution @ n| _ 45
9 T 9
In| =5
3) bl <10 n>5orn<-5
false 2 v
No Solution @ _5 0 g
—o0,—5) U (5,
5) |x|>5 ( U( )
x>50rx<-=5
& — 17) |%| =5
-5 0 5 true

(=90, =5) U (5,)

All Real Numbers R

7) 10[n| _ 30 19) |9+ x| > -2

10 ~ 10 true
In| >3

All Real Numbers R
n>3o0orn< -3

-3 0 3 21) [ = 5
(=0, —3) U (3, ) (=22 5(3) or (3) 57 < —5(3)
v+7=215 or v+7<-15
g =2 -7 -7 -7 =7
x> —12 v=8 or v<-—22
false <
No Solution @ —22 0 8

11) [n|+4>-5

—4 —4 23) 7|-7x| > 98
7 7
Inl > =9 |-7x| > 14
true D7x 14 7k
All Real Numbers R -7 =7 -7 -7

x<-2 or x=2
13) 10 —8|p| > 18 7
~10 ~ 10 -2 0 2

—8lpl _ 8 (=%,=2) U (2,)
-8 — -8

lpl = -1
false

No solutoin @



25) =5+ |-8k| = 51

+5 +5
|-8k| = 56
I=8k| 5 56 ). I8k =56
8 — g 8 _8

k<-7o0r k=7

(—00,=7) U (7,0)

27) 8—4|§| > 12
—8 —8
5l <1
false
No Solution @

29) 7|-9+m| +3 =66

-3 -3

7|—97+m|2§

[-9+m| =9
-9+m=29o0r—-94+m<-9
+9 +9 49 +9

m=18or m<0

0 18
(—%0,0) U (18, )

31) |I3n+ 10| < —-26
false
No Solution @

33) |10b + 10| > 70

10b + 10> 70 or 10b + 10 < —70

—10 — 10 —10 -10
10b _ 60 10b _ —80
10 ~ 10 10 10

b>6 or b< -8

(—00,—8) U (6, 0)

35) |-10+ x| =8
—10+x>80or —10+x < -8
+10 +10 +10 + 10
x = 18 or x <2

0 2 18
(—%0,2) U (18, )

37) |-10+a|—3>7

+3 +3
|-10+a| > 10
—10+a=100r—10+a < -10
+10 +10 +10 +10

a=20or a=0

s 20
(—,0) U (20, )

39) |3x —1|-9< -8
+9 49

3x -1 <1
-1<3x-1<1
+1 +1 +1

<¥<

wIN

3
2
Sx <
3

41) —8|8n— 1| + 4 > —116
—4  —4
-8|8n—1| - 120
-8 - -8
|8n — 1| > 15

—-15<8n—-1<15




43) =10 +9|3p — 9| < =37

+10 +10
93p-9| _ -27
9 9
[3p — 9] < -3
false

No Solution @

45) 912 —10n| — 8 > 100
+8 48

9|2—10n| >g

9 9

|2 —10n| > 12

2—10n>12 or 2—-10n < —12

(=00, =1) U, )



